PS3 Q9(3):

The principal part is allxx + 26Ux1 + CUM $= U_{xx} + 2U_{xy} + 17U_{yy}$ with a=1, b=1, c=17. use the charge of variables (week snotes 3.3) $\int x' = x$ $\int \frac{1}{\sqrt{2}} - \frac{1}{\sqrt{2}} x + \sqrt{2} = -x + \sqrt{2}$ Using this charge of variables Uxx +2 Uxy + 17 U14 $= \alpha \left(\mathcal{U}_{X'X'} + \left(\frac{\alpha - h^2}{\alpha^2} \right) \mathcal{U}_{Y'Y'} \right)$ = $U_{x'x'} + \frac{1 \cdot (7 - 1^2)}{1 - 1^2} U_{x'y'}$ $= U_{x'x'} + [6 U_{y'y'}]$ PS4 Q2: We compute

 $\left(\frac{\partial^2}{\partial t^2} - C^2 \frac{\partial^2}{\partial x^2}\right) \vee (x_i + i)$

$$= \left(\frac{d^{2}}{\partial t^{2}} - C^{2}\frac{d^{2}}{\partial t^{2}}\right) \left[\frac{d}{\partial x} \cdot U(x,t)\right]$$

$$= \frac{d}{\partial x} \left[C\frac{d^{2}}{\partial t^{2}} - C^{2}\frac{d^{2}}{\partial t^{2}}\right)U(x,t)\right]$$

$$= \frac{d}{\partial x} \left[C\frac{d^{2}}{\partial t^{2}} - C^{2}\frac{d^{2}}{\partial t^{2}}\right]U(x,t)$$

$$= \frac{d}{\partial x} \left[U_{tt} - C^{2}U_{tY}\right]$$

$$= \frac{d}{\partial x} \cdot 0 \qquad \leq U_{satisfies}$$

$$= 0 \qquad \text{wave equation}$$
So V also satisfies wave equation.
PSA QS:
The equation Gan be factored as
 $\left(\frac{d}{\partial x} - t\frac{d}{\partial t}\right)\left(\frac{d}{\partial x} + \frac{d}{\partial t}\right)U = 0$
Denote by $\frac{d}{\partial x} + \frac{d}{\partial t}U = 0$
Denote by $\frac{d}{\partial x} + \frac{d}{\partial t}U = 0$
 $\int \frac{d}{\partial x} - 4\frac{d}{\partial t}W = 0 \qquad 0$
 $\int \frac{d}{\partial x} + \frac{d}{\partial t}U = W \qquad 0$
Equation O has charatoristics $\frac{dt}{dx} = -4$

Namely
$$t = -4k + c$$

So O becomes an ODE along such charleshiftics
 $\frac{d}{dx} W(x, tox) = W_x + \frac{dt}{dx} W_t$
 $= W_x - 4W_t$
Thus $W(x, t) = F(c)$
 $WGx, t) = F(c)$
 $WGx, t) = F(cxt)$
Next, we solve O , randy
 $Ux + Ut = F(cxt)$ O
This equation has charateristics $\frac{dt}{dx} = 1$
Namely $t = x + C$
Along such charateristics
(and using $t = x + C$), we see
 O becomes an ODE
 $\frac{d}{dx} U(cx, tox) = F(c4x + x + C)$
 $\frac{d}{dx} U = F(cx + C)$

Integrate it with respect to x, we get $\mathcal{N} = FC5X+\mathcal{E} + G(\mathcal{E})$ substituting back $\mathcal{Z} = t - x$, we get the general solutions: (ICX,t) = FC3X+t-X) + GCt-X) $= FC4x+t) + GCx-t) \oplus$ for any F, G. Next we defermine F, G by initial conditions First (L+(x,+) = F'(4x+t)-G'(x-t)) plug in t=0 to @ and @, veget $\chi^2 = U(x, \sigma) = F(4x) + G(x)$ $e^{k} = (1+(x,-t)) = F'(+x) - G'(-x)$ Znfegrate 7 we get $e^{\chi} = \frac{1}{4}F(4\chi) - G(\chi) + D(8).$ Using (D) and (D), we can solve the algebraic opertions and get F, G.

$$\frac{\chi^{2} + e^{\chi} - D}{\frac{5}{4}} = F(4\chi)$$
substituting $\frac{1}{4}$ for χ , we get
$$F(\chi) = \frac{4}{5} \left[\frac{\chi^{2}}{16} + e^{\frac{\chi}{4}} - D \right]$$
and $G(\chi) = F(4\chi) - \chi^{2}$

$$= \frac{4}{5} \left(\chi^{2} + e^{\chi} - D \right) - \chi^{2}$$

$$= -\frac{1}{5} \chi^{2} + \frac{4}{5} e^{\chi} - \frac{4}{5} D$$
plug in $\chi = 0$ in G we get:
$$F(0) + G(0) = 0$$
Manely
$$\frac{4}{5} \left[0 + e^{0} - D \right] - 0 + \frac{4}{5} e^{0} - \frac{4}{5} D = 0$$
So $D = 1$
Thus $F(\chi) = \frac{4}{5} \left(\frac{\chi^{2}}{16} + e^{\frac{\chi}{4}} - 1 \right)$

$$G(\chi) = -\frac{1}{5} \chi^{2} + \frac{4}{5} e^{\chi} - \frac{4}{5}$$
plug into the general colutions, get
$$U(\chi, t) = \frac{4}{5} \left[\frac{(4\chi t + b)^{2}}{16} + e^{\frac{4\chi t + 1}{5}} - \frac{1}{5} (\chi + t)^{2} + \frac{4}{5} e^{\chi - t} - \frac{4}{5} \right]$$

First the general solution for annue equations
we deduced in the certain notice are

$$W(x,t) = F(xt) + G(x-c+)$$

for any F, G
Next we use the banday conditions
to determine F, G .
When $x-c+=0$, Namely $t=\frac{x}{c}$,
we have
 $0|x^2 = 4|x-c+ = F(x+x) + G(x-x) = F(2x) + G(0)$
when $x+c+=0$. Nowely $t=-\frac{x}{c}$,
we have
 $0|x^2 = 4|x-c+ = F(x+x) + G(x+x) = F(2x) + G(0)$
when $x+c+=0$. Nowely $t=-\frac{x}{c}$,
we have
 $0|x^2 = 4|x-c+ = F(x+x) + G(x+x) = F(2x) + G(0)$
when $x+c+=0$. Nowely $t=-\frac{x}{c}$,
we have
 $0|x^2 = 4|x-c+ = F(x+x) + G(x+x) = F(2x) + G(0)$
 $0|x^2 = 4|x-c+ = F(x+x) + G(x+x) = F(2x) + G(2x)$
 $0|x^2 = 4|x-c+ = F(x+x) + G(x+x) = F(2x) + G(2x)$
 $0|x^2 = 4|x-c+ = F(x+x) + G(x+x) = F(2x) + G(2x)$
 $0|x^2 = 4|x-c+ = F(x+x) + G(x+x) = F(2x) + G(2x)$
 $0|x^2 = 4|x-c+ = F(x+x) + G(x+x) = F(2x) + G(2x)$
 $0|x^2 = 4|x-c+ = F(x+x) + G(x+x) = F(2x) + G(2x)$
 $0|x^2 = 4|x-c+ = F(x+x) + G(x+x) = F(2x) + G(2x)$
 $0|x^2 = 4|x-c+ = F(2x+x) + G(2x+x) = F(2x) + G(2x)$
 $0|x^2 = 4|x-c+ = F(2x+x) + G(2x+x) = F(2x) + G(2x)$
 $0|x^2 = 4|x-c+ = F(2x+x) + G(2x+x) = F(2x) + G(2x)$
 $0|x^2 = 4|x-c+ = F(2x+x) + G(2x+x) = F(2x) + G(2x)$
 $0|x^2 = 4|x-c+ = F(2x+x) + G(2x+x) = F(2x) + G(2x)$
 $0|x^2 = 4|x-c+ = F(2x+x) + G(2x+x) = F(2x) + G(2x)$
 $0|x^2 = 4|x-c+ = F(2x+x) + G(2x+x) = F(2x) + G(2x)$
 $0|x^2 = 4|x-c+ = F(2x+x) + G(2x+x) = F(2x) + G(2x)$
 $0|x^2 = 4|x-c+ = F(2x+x) + G(2x+x) = F(2x) + G(2x+x)$
 $0|x^2 = 4|x-c+ = F(2x+x) + G(2x+x) = F(2x) + G(2x+x)$
 $0|x^2 = 4|x-c+ = F(2x+x) + G(2x+x) = F(2x+x) + G(2x+x) = F(2x+x) + G(2x+x)$
 $0|x^2 = 4|x-c+ = F(2x+x) + G(2x+x) = F(2x+x)$

$$\begin{split} \text{replaces} & \text{key} + \frac{x}{5} \text{ in } \textcircled{(2)}, \text{we get} \\ & \text{G}(x) = -\frac{x^4}{16} - F(0) \\ \text{so the solution is} \\ \text{leckel} = -Fecktel) + \frac{Feck-cel}{16} \\ & = -\frac{(x+cel)^2}{4} - \frac{F(0)}{16} + \frac{Cx+cel)^4}{16} - F(0) \\ \text{using } \textcircled{(3)}, F(0) + \frac{G(0)}{4} + \frac{Cx+cel)^4}{16} - (F(0) + \frac{Cx+cel)^4}{16} - (F(0) + \frac{Cx+cel)^4}{16} \\ & = -\frac{(x+cel)^2}{4} + \frac{Cx+cel)^4}{16} - (F(0) + \frac{Cx+cel)^4}{16} \\ \end{split}$$

PS 5 Q 2;

First consider solutions with separated variables $\begin{aligned}
(LCX,t) = X(x)T(t), \\
plug into the equation gives
\\
X \cdot T - c^2 X''T = 0
\end{aligned}$ $\begin{aligned}
\frac{T}{CT^2} = \frac{X''}{X} = -\lambda \quad (A)
\end{aligned}$

The 2nd identity in (4) together with
the boundary conditions gives the eigenvalue problem

$$\int x'(-1) = 0, \ x(-\pi) = 0$$
The general solutions for x are
 $x(-\pi) = C_1 GS C_0 (\pi \times \pi)$.
This derivative is
 $x'(-\pi) = -C_1 \pi Sin(-\pi \times \pi) + C_2 \pi \pi \cos(-\pi \times \pi)$.
This implies $C_2 = 0$ and $C_1 \neq 0$.
The first boundary condition then gives
 $0 = x'(-\pi) = -C_1 \pi Sin(-\pi \pi)$.
The second boundary condition then gives
 $0 = x'(-\pi) = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = n\pi$, $n = 0.1, 2$,...
So eigenvalues are $\lambda_n = n^2$, $n = 0.1, 2$...
Events, boundary $x_n = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$.
Thus $\pi \pi = -C_1 \pi Sin(-\pi \pi)$

we have
$$x_{0}(x) = \cos 0 = 1$$

and Solving $T_{0}'' = 0$ gives $T_{0} = a_{0}tbot$.
So the general Solutions is given by
 $[L(CK+t) = \sum_{N=0}^{\infty} K_{n}CK) T_{n}(t)$
 $= a_{0}tbot t = a_{n}cos(nx) cos(cont) t = b_{n}as(nx) sin(cont)$
 $Tts time derivative is$
 $Ut CK+t) = b_{0} - \sum_{N=1}^{\infty} Ch \cdot a_{N}cos(nx) sin(cont) + \sum_{N=1}^{\infty} ch \cdot b_{N}cos(nx) cos(cont)$
 $plug in t = 0$, we get
 $0 = U(CK, a) = a_{0}t = a_{N}an Cos(nx)$
 $thus we can determine the coeffections
 $Ut cK+z = Ut (X, a) = b_{0} + \sum_{N=1}^{\infty} C \cdot n \cdot b_{N} cos(nx)$
Thus we can determine the coeffections
 $Using that Sin mx cos nx once$
 $x dependent if m t n, we get$
 $a_{n} = 0$ for all n except for $n = 0$ or 2
and $b_{0} = \frac{1}{2}$, $C \cdot 2 \cdot b_{2} = \frac{1}{2} \Rightarrow b_{2} = \frac{1}{2}c$
So the Solution to this Question is
 $U(CK+t) = \frac{1}{2}t + \frac{1}{4}ccos(2x) sin(2ct)$$

PS 5 Q4:
The Fourier services is (as defined in Week 6 notes)

$$f(cx) = Q_0 + \prod_{n=1}^{\infty} Q_n \log(\frac{\pi n x}{\pi}) + \prod_{n=1}^{\infty} bn \sin(\frac{\pi n x}{\pi})$$

with $Q_0 = \frac{1}{2\pi} \int_{-\pi}^{\pi} f(x) dx$
 $= \frac{1}{2\pi} \int_{-\pi}^{\pi} f(x) dx$
 $= \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) dx$
 $= \frac{1}{\pi} (\cos x) \int_{0}^{\pi}$
 $= \frac{2}{\pi}$
and $Q_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos nx dx$
 $= \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos nx dx$
 $= (-1)^n + 1 - n \int_{0}^{\pi} \cos x \sin x dx$
 $= (-1)^n + 1 - n \int_{0}^{\pi} \cos x \sin x dx$
 $= 1 + (-1)^n + n^2 \int_{0}^{\pi} \sin x \cos x dx$
 $= 1 + (-1)^n + n^2 \int_{0}^{\pi} \sin x \cos x dx$

Thus $f(x) = \frac{1}{2} + \frac{2}{n=1} - \frac{2[-1 - (-1)^n]}{\pi \cdot (n^2 - 1)} \cos(nx)$



P56 Q1: Using the formula (2.6) in week 6 notes for in hongeres problem with YCR)= Sinx and c= f(x) = 0S(x) = Sin X we get $U(x,t) = \frac{0+0}{2} + \frac{1}{2} \int_{x-t}^{x+t} Ginsds$ + = So States sinvards $= (\underline{as(k-cf)} - (\underline{as(k+cf)})$ $+\frac{1}{2}\int_{0}^{1}\left[\cos(x+t+s)-\cos(x+t-s)\right]ds$ + Sinx-SinG+t) $=\frac{\cos(x-c4)-\cos(x+c4)}{2}$

$$-\frac{1}{2} \cdot \left[-\sin x + \sin (x+t)\right]$$

$$= \frac{\cos(x+t)}{2} + \sin x - \frac{\sin(x-t) + \sin(x+t)}{2}$$
PS 6 Q.4:
For this Quantion, we an directly apply
the formula in section 3 of Weeks nodes
with $L = T$
 $f = b \sin x + 2b \sin(2x)$
 $f = 5in x$
thus $Q_n = \frac{2}{\pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi \pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$
 $b_n = \frac{2}{\pi} \int_{-\infty}^{1} \left[b \sin x + 2b \sin(2x) \right] \sin(2x) dx$

$$SO = b. Sin x cos(cf) + 2b Sin(2x) cos(2cf) + 2 Sin x sin(cf)$$

PS 6 Q 8:
• We differentiate ECUICH) with respect to t
and get

$$\frac{d}{dt} \equiv \int_{-\infty}^{\infty} \left[Ut^{2} + 3^{2} Ut^{2} \right] dx$$

 $= \frac{d}{dt} \equiv \int_{-\infty}^{\infty} \left[Ut^{2} + 3^{2} Ut^{2} \right] dx$
 $= \frac{d}{dt} = \int_{-\infty}^{\infty} \frac{d}{dt} Utt^{2} + 3^{2} Ut^{2} dx$ Use on the formula
 $= \frac{d}{dt} \int_{-\infty}^{\infty} \frac{d}{dt} Utt^{2} + 3^{2} Ut^{2} dx$ Use on the formula
 $= \frac{d}{dt} \int_{-\infty}^{\infty} Utt Utt dx + 3^{2} \int_{-\infty}^{0} Utt Utt dx$ Using points
 $= \int_{-\infty}^{\infty} Utt Utt dx + 3^{2} \int_{-\infty}^{0} Utt Utt dx$ Using compared
 $= \int_{-\infty}^{\infty} Utt Utt dx - \int_{-\infty}^{0} Utt dx Utt dx$ Support.
 $= \int_{-\infty}^{\infty} Utt Utt dx - \int_{-\infty}^{0} Utt dx$

Nordy
$$V_{x} \equiv 0$$
 and $V_{t} \equiv 0$.
 $V(r_{t},t) \equiv \int_{0}^{t} V_{t}(r_{x},s)ds + V(r_{t},v)$
 $= 0 \pm 0 \equiv 0$
So $V \equiv 0$ and thus $U_{1} \equiv U_{2}$
and the solution to $CA(r)$ is unique.
 $PS = 0$ 4 :
The general solutions to (apple exploring
 $in = disc = e$ radius r_{π} is
(as deduced in Weet S (where)
 $U(r_{\pi}t) = Q_{0} \pm \sum_{m=1}^{\infty} r^{m}(a_{m} \cos m\theta \pm b_{m} \sin m\theta)$
with borday codition
 $f(\theta) = U(r_{\pi}, \theta) = a_{0} \pm \sum_{m=1}^{\infty} V_{\pi}^{m}(a_{m} \cos m\theta \pm b_{m} \sin m\theta)$
 $H(ere f(0) = \sin^{2}\theta = \frac{1}{2} - \frac{1}{2}\cos^{2}\theta$
So Using the foot that $Cos(m\theta)$ and $sin n\theta$ are
 $independent, we observe that
 $a_{0} = \frac{1}{2}, \quad r_{\pi}^{2} \cdot Q_{2} = -\frac{1}{2} \Rightarrow a_{2} = -\frac{1}{2}r_{\pi^{2}}$
 $d|| other an and bn are zero.$$